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2χ   43.1 / 25

p0        0.0±  3934 

p1        0.000171± -0.000985 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,4)

TP delay [ns]
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3937.5

3938

3938.5

TVC (Mean) vs TP delay (c,b,ch)=(4,1,5)
 / ndf 2χ  24.49 / 25

p0        0.0±  3938 

p1        0.0001986± -0.0008817 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,5)

TP delay [ns]
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3946.5

3946.6

TVC (Mean) vs TP delay (c,b,ch)=(4,1,6)
 / ndf 2χ  44.15 / 25

p0        0.0±  3947 

p1        0.0001874± -0.0008953 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,6)

TP delay [ns]
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3938.5

3938.6

3938.7

TVC (Mean) vs TP delay (c,b,ch)=(4,1,7)
 / ndf 2χ  48.48 / 25

p0        0.0±  3939 

p1        0.0001759± -0.0009649 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,7)

TP delay [ns]
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3948.1

3948.15

3948.2

3948.25

TVC (Mean) vs TP delay (c,b,ch)=(4,1,8) / ndf 
2χ  12.79 / 25

p0        0.0±  3948 

p1        0.000194± -0.001229 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,8)

TP delay [ns]
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3941.1

3941.2

TVC (Mean) vs TP delay (c,b,ch)=(4,1,9) / ndf 
2χ  52.98 / 25

p0        0.0±  3941 

p1        0.000183± -0.001029 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,9)

TP delay [ns]
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3945.2

3945.3

3945.4

TVC (Mean) vs TP delay (c,b,ch)=(4,1,10)
 / ndf 2χ  42.34 / 25

p0        0.0±  3945 

p1        0.000183± -0.001074 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,10)

TP delay [ns]
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3920

3930

3940

TVC (Mean) vs TP delay (c,b,ch)=(4,1,11) / ndf 
2χ  71.88 / 25

p0        0.4±  3941 

p1        0.0056± 0.0117 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,11)

TP delay [ns]
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3937.1
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3937.3

TVC (Mean) vs TP delay (c,b,ch)=(4,1,12)
 / ndf 2χ  36.05 / 25

p0        0.0±  3937 

p1        0.0001996± -0.0007003 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,12)

TP delay [ns]
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3941.65

TVC (Mean) vs TP delay (c,b,ch)=(4,1,13)
 / ndf 2χ  20.95 / 25

p0        0.0±  3942 

p1        0.0001830± -0.0002828 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,13)

TP delay [ns]
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3930.1

3930.2

TVC (Mean) vs TP delay (c,b,ch)=(4,1,14)
 / ndf 2χ  30.19 / 25

p0        0.0±  3930 

p1        0.0001910± -0.0005448 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,14)

TP delay [ns]
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3931.1

3931.15

3931.2

3931.25

TVC (Mean) vs TP delay (c,b,ch)=(4,1,15)
 / ndf 2χ     30 / 25

p0        0.0±  3931 

p1        0.0002092± -0.0007317 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,15)



TP delay [ns]
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3909.2

3909.3

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0)
 / ndf 2χ  47.34 / 25

p0        0.0±  3909 

p1        0.0001839± -0.0004397 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0)

TP delay [ns]
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3909.3

3909.4

3909.5

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)
 / ndf 2χ  38.56 / 25

p0        0.0±  3909 

p1        0.0001785± -0.0002573 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)

TP delay [ns]
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3906.25

3906.3

3906.35

3906.4

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2)
 / ndf 2χ  19.46 / 25

p0        0.0±  3906 

p1        0.0001812± -0.0001423 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2)

TP delay [ns]
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3909.25

3909.3

3909.35

3909.4

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)
 / ndf 2χ  22.02 / 25

p0        0.0±  3909 

p1        0.0001734± -0.0002937 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)

TP delay [ns]
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3916.2

3916.3

3916.4

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)
 / ndf 2χ  18.53 / 25

p0        0.0±  3916 

p1        0.0001918± -0.0008787 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)

TP delay [ns]
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3912

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)
 / ndf 2χ  27.15 / 25

p0        0.0±  3912 

p1        0.0001772± -0.0009596 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)

TP delay [ns]
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3910.8

3910.9

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)
 / ndf 2χ  55.18 / 25

p0        0.0±  3911 

p1        0.0001854± -0.0006869 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)

TP delay [ns]

0 50 100

3913.85

3913.9

3913.95

3914

3914.05

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)
 / ndf 2χ  33.42 / 25

p0        0.0±  3914 

p1        0.0001796± -0.0007031 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)

TP delay [ns]
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3905.9

3906

3906.1

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)
 / ndf 2χ  48.63 / 25

p0        0.0±  3906 

p1        0.000183± -0.001004 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)

TP delay [ns]

0 50 100

3912.3

3912.4

3912.5

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)
 / ndf 2χ  27.72 / 25

p0        0.0±  3912 

p1        0.0001935± -0.0009577 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)

TP delay [ns]
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3912.1

3912.2

3912.3

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10) / ndf 
2χ  19.66 / 25

p0        0.0±  3912 

p1        0.000206± -0.001678 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)

TP delay [ns]
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3917

3917.1

3917.2

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11) / ndf 
2χ  46.57 / 25

p0        0.0±  3917 

p1        0.000175± -0.001216 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)

TP delay [ns]

0 50 100

3896

3896.1

3896.2

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)
 / ndf 2χ   65.7 / 25

p0        0.0±  3896 

p1        0.0001763± -0.0009425 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)

TP delay [ns]
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3895.8

3895.9

3896

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13) / ndf 
2χ  58.83 / 25

p0        0.0±  3896 

p1        0.000178± -0.001279 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)

TP delay [ns]
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3900.2

3900.3

3900.4

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14) / ndf 
2χ  39.28 / 25

p0        0.0±  3900 

p1        0.000195± -0.000912 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)

TP delay [ns]

0 50 100

3898.5

3898.6

3898.7

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15) / ndf 
2χ  53.69 / 25

p0        0.0±  3899 

p1        0.000176± -0.001361 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)



TP delay [ns]
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3921.05

3921.1

3921.15

3921.2

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)
 / ndf 2χ  35.71 / 25

p0        0.0±  3921 

p1        0.0001941± -0.0006984 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)

TP delay [ns]
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3913.2

3913.3

3913.4

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1) / ndf 
2χ  32.07 / 25

p0        0.0±  3913 

p1        0.000185± -0.001116 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)

TP delay [ns]

0 50 100

3910

3912

3914

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2) / ndf 
2χ  28.35 / 25

p0        0.0±  3915 

p1        0.000185± -0.001168 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)

TP delay [ns]

0 50 100

3915

3915.5

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)
 / ndf 2χ  41.99 / 25

p0        0.0±  3916 

p1        0.0001943± -0.0006137 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)

TP delay [ns]
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3910.7

3910.75

3910.8

3910.85

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4) / ndf 
2χ   28.1 / 25

p0        0.0±  3911 

p1        0.000187± -0.001069 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)

TP delay [ns]

0 50 100

3905.9

3906

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)
 / ndf 2χ  31.93 / 25

p0        0.0±  3906 

p1        0.000184± -0.001704 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)

TP delay [ns]

0 50 100

3931.6

3931.7

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6) / ndf 
2χ  27.26 / 25

p0        0.0±  3932 

p1        0.00019± -0.00133 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)

TP delay [ns]

0 50 100

3920.2

3920.3

3920.4

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7) / ndf 
2χ   28.7 / 25

p0        0.0±  3920 

p1        0.000215± -0.001208 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)

TP delay [ns]
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3924.5

3924.6

3924.7

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)
 / ndf 2χ  26.01 / 25

p0        0.0±  3925 

p1        0.0001992± -0.0003408 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)

TP delay [ns]
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3917.3

3917.4

3917.5

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)
 / ndf 2χ  47.44 / 25

p0        0.0±  3917 

p1        0.0001792± -0.0006325 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)

TP delay [ns]
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3914.6

3914.7

3914.8

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)
 / ndf 2χ  68.71 / 25

p0        0.0±  3915 

p1        0.0001896± -0.0004157 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)

TP delay [ns]
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3925.9

3925.95

3926

3926.05

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)
 / ndf 2χ  33.34 / 25

p0        0.0±  3926 

p1        0.0001803± -0.0006417 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)

TP delay [ns]
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3934.6

3934.65

3934.7

3934.75

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)
 / ndf 2χ  30.83 / 25

p0        0.0±  3935 

p1        0.0001811± -0.0008355 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)

TP delay [ns]

0 50 100

3928.4

3928.5

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13) / ndf 
2χ  47.85 / 25

p0        0.0±  3928 

p1        0.000202± -0.001012 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)

TP delay [ns]
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3928.8

3928.9

3929

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)
 / ndf 2χ  36.27 / 25

p0        0.0±  3929 

p1        0.000204± -0.001054 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)

TP delay [ns]

0 50 100

3932.6

3932.7

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)
 / ndf 2χ  25.61 / 25

p0        0.0±  3933 

p1        0.000199± -0.001325 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)



TP delay [ns]
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3918.5

3918.6

3918.7

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)
 / ndf 2χ  23.12 / 25

p0        0.0±  3919 

p1        0.0001913± -0.0005123 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)

TP delay [ns]
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3910

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1) / ndf 
2χ  36.67 / 25

p0        0.0±  3917 

p1        0.000387± -0.001032 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)

TP delay [ns]
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3930.2

3930.25

3930.3

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)
 / ndf 2χ  25.44 / 25

p0        0.0±  3930 

p1        0.0001783± -0.0008315 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)

TP delay [ns]
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3925.25

3925.3

3925.35

3925.4

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)
 / ndf 2χ  27.69 / 25

p0        0.0±  3925 

p1        0.0001995± -0.0005029 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)

TP delay [ns]
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3926.8

3926.9

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4) / ndf 
2χ  29.44 / 25

p0        0.0±  3927 

p1        0.000211± -0.001376 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

TP delay [ns]
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3932.3

3932.4

3932.5

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5) / ndf 
2χ  29.17 / 25

p0        0.0±  3932 

p1        0.000186± -0.001238 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)

TP delay [ns]

0 50 100

3928.2

3928.3

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6) / ndf 
2χ  21.43 / 25

p0        0.0±  3928 

p1        0.000184± -0.001056 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)

TP delay [ns]
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3919.65

3919.7

3919.75

3919.8

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)
 / ndf 2χ   20.5 / 25

p0        0.0±  3920 

p1        0.000184± -0.001015 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)

TP delay [ns]
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3944.1

3944.2

3944.3

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8) / ndf 
2χ  23.85 / 25

p0        0.0±  3944 

p1        0.000193± -0.001009 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)

TP delay [ns]

0 50 100

3943.1

3943.2

3943.3

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)
 / ndf 2χ  33.73 / 25

p0        0.0±  3943 

p1        0.0001982± -0.0009103 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

TP delay [ns]

0 50 100

3943.2

3943.3

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10) / ndf 
2χ  20.47 / 25

p0        0.0±  3943 

p1        0.000189± -0.001049 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)

TP delay [ns]
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3937

3937.1

3937.2

3937.3

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11) / ndf 
2χ  26.69 / 25

p0        0.0±  3937 

p1        0.000192± -0.001142 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)

TP delay [ns]

0 50 100

3930.8

3930.9

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)
 / ndf 2χ  52.68 / 25

p0        0.0±  3931 

p1        0.000193± -0.001394 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)

TP delay [ns]
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3940.1

3940.2

3940.3

3940.4

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13) / ndf 
2χ   38.7 / 25

p0        0.0±  3940 

p1        0.000186± -0.001144 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

TP delay [ns]
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3937.7

3937.8

3937.9

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14) / ndf 
2χ  45.57 / 25

p0        0.0±  3938 

p1        0.000183± -0.001419 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)

TP delay [ns]
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3929.3

3929.4

3929.5

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15) / ndf 
2χ  20.98 / 25

p0        0.0±  3929 

p1        0.000192± -0.001103 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)



TP delay [ns]
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3916.7

3916.75

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)
 / ndf 2χ  16.89 / 25

p0        0.0±  3917 

p1        0.0002023± -0.0009834 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)

TP delay [ns]
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3914.2

3914.3

3914.4

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1) / ndf 
2χ   33.1 / 25

p0        0.0±  3914 

p1        0.000180± -0.000791 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

TP delay [ns]
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3919.65

3919.7

3919.75

3919.8

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2) / ndf 
2χ  31.76 / 25

p0        0.0±  3920 

p1        0.000186± -0.001212 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)

TP delay [ns]
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3924.6

3924.7

3924.8

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3) / ndf 
2χ  35.52 / 25

p0        0.0±  3925 

p1        0.000188± -0.001047 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)

TP delay [ns]
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3912.15

3912.2

3912.25

3912.3

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)
 / ndf 2χ  38.35 / 25

p0        0.0±  3912 

p1        0.0001890± -0.0006401 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)

TP delay [ns]
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3907.8

3907.9

3908

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)
 / ndf 2χ  44.58 / 25

p0        0.0±  3908 

p1        0.0001919± -0.0005551 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)

TP delay [ns]
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3918.35

3918.4

3918.45

3918.5

3918.55

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)
 / ndf 2χ  35.62 / 25

p0        0.0±  3918 

p1        0.0001897± -0.0004374 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)

TP delay [ns]
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3909.1

3909.2

3909.3

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7) / ndf 
2χ  41.95 / 25

p0        0.0±  3909 

p1        0.000168± -0.001076 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)

TP delay [ns]
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3939.1

3939.2

3939.3

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)
 / ndf 2χ  33.61 / 25

p0        0.0±  3939 

p1        0.0001908± -0.0008053 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)

TP delay [ns]

0 50 100

3936.6

3936.7

3936.8

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9) / ndf 
2χ  24.77 / 25

p0        0.0±  3937 

p1        0.000187± -0.001118 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)

TP delay [ns]

0 50 100
3938.6

3938.7

3938.8

3938.9

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)
 / ndf 2χ  38.11 / 25

p0        0.0±  3939 

p1        0.0001818± -0.0008195 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)

TP delay [ns]

0 50 100

3934

3934.1

3934.2

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)
 / ndf 2χ  28.27 / 25

p0        0.0±  3934 

p1        0.0001847± -0.0007035 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)

TP delay [ns]

0 50 100

3936.5

3936.6

3936.7

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12) / ndf 
2χ  31.48 / 25

p0        0.0±  3937 

p1        0.000215± -0.001069 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)

TP delay [ns]

0 50 100

3936.1

3936.2

3936.3

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)
 / ndf 2χ  37.57 / 25

p0        0.0±  3936 

p1        0.0002080± -0.0007508 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)

TP delay [ns]

0 50 100

3936

3938

3940

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14) / ndf 
2χ  19.59 / 25

p0        0.0±  3941 

p1        0.000177± -0.001343 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)

TP delay [ns]

0 50 100

3939.7

3939.8

3939.9

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15) / ndf 
2χ   19.8 / 25

p0        0.0±  3940 

p1        0.00019± -0.00111 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)



TP delay [ns]

0 50 100

3922.2

3922.25

3922.3

3922.35

3922.4

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0) / ndf 
2χ  25.76 / 25

p0        0.0±  3922 

p1        0.000199± -0.000671 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)

TP delay [ns]

0 50 100

3925.4

3925.5

3925.6

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)
 / ndf 2χ  52.65 / 25

p0        0.0±  3926 

p1        0.0001830± -0.0009402 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)

TP delay [ns]

0 50 100
3933.15

3933.2

3933.25

3933.3

3933.35

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2) / ndf 
2χ  28.52 / 25

p0        0.0±  3933 

p1        0.000181± -0.000788 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)

TP delay [ns]

0 50 100

3927.9

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)
 / ndf 2χ  34.36 / 25

p0        0.0±  3928 

p1        0.000192± -0.001234 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)

TP delay [ns]

0 50 100

3916.5

3916.6

3916.7

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4) / ndf 
2χ  35.39 / 25

p0        0.0±  3917 

p1        0.000197± -0.001159 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)

TP delay [ns]

0 50 100

3914.8

3914.9

3915
TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)

 / ndf 2χ  22.88 / 25

p0        0.0±  3915 

p1        0.0001882± -0.0009036 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)

TP delay [ns]

0 50 100

3914.5

3914.6

3914.7

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)
 / ndf 2χ  35.65 / 25

p0        0.0±  3915 

p1        0.0001842± -0.0008528 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)

TP delay [ns]

0 50 100

3913.5

3913.6

3913.7

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)
 / ndf 2χ  40.09 / 25

p0        0.0±  3914 

p1        0.0001854± -0.0007783 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)

TP delay [ns]

0 50 100

3927

3927.1

3927.2

3927.3
TVC (Mean) vs TP delay (c,b,ch)=(4,6,8) / ndf 

2χ  37.43 / 25

p0        0.0±  3927 

p1        0.000185± -0.001649 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)

TP delay [ns]

0 50 100
3917.75

3917.8

3917.85

3917.9

3917.95

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9) / ndf 
2χ  22.98 / 25

p0        0.0±  3918 

p1        0.000187± -0.001328 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)

TP delay [ns]

0 50 100

3917.2

3917.25

3917.3

3917.35

3917.4

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10) / ndf 
2χ  30.13 / 25

p0        0.0±  3917 

p1        0.000173± -0.001219 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)

TP delay [ns]

0 50 100

3924.5

3924.6

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11) / ndf 
2χ  36.04 / 25

p0        0.0±  3925 

p1        0.000204± -0.001328 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)

TP delay [ns]

0 50 100

3930.3

3930.4

3930.5

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12) / ndf 
2χ  45.19 / 25

p0        0.0±  3931 

p1        0.000201± -0.001106 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)

TP delay [ns]

0 50 100

3929.9

3930

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13) / ndf 
2χ  27.05 / 25

p0        0.0±  3930 

p1        0.000219± -0.001193 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)

TP delay [ns]

0 50 100
3918.7

3918.75

3918.8

3918.85

3918.9

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)
 / ndf 2χ  45.17 / 25

p0        0.0±  3919 

p1        0.0001841± -0.0009634 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)

TP delay [ns]

0 50 100

3927

3927.1

3927.2

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)
 / ndf 2χ  25.44 / 25

p0        0.0±  3927 

p1        0.0001915± -0.0008439 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)



TP delay [ns]

0 50 100
3943.4

3943.5

3943.6

3943.7

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0) / ndf 
2χ  43.46 / 25

p0        0.0±  3944 

p1        0.000204± -0.001149 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)

TP delay [ns]

0 50 100

3945.1

3945.2

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)
 / ndf 2χ  35.27 / 25

p0        0.0±  3945 

p1        0.0001911± -0.0008336 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)

TP delay [ns]

0 50 100

3940.3

3940.4

3940.5

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)
 / ndf 2χ  39.36 / 25

p0        0.0±  3940 

p1        0.000188± -0.000915 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)

TP delay [ns]

0 50 100
3943.05

3943.1

3943.15

3943.2

3943.25

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)
 / ndf 2χ   31.2 / 25

p0        0.0±  3943 

p1        0.0001653± -0.0008626 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)

TP delay [ns]

0 50 100

3929.4

3929.5

3929.6

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)
 / ndf 2χ  13.16 / 25

p0        0.0±  3930 

p1        0.0001991± -0.0008372 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)

TP delay [ns]

0 50 100
3928.7

3928.8

3928.9

3929

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)
 / ndf 2χ  38.84 / 25

p0        0.0±  3929 

p1        0.0001850± -0.0006089 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)

TP delay [ns]

0 50 100

3932.5

3932.6

3932.7

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)
 / ndf 2χ  22.71 / 25

p0        0.0±  3933 

p1        0.000188± -0.001005 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)

TP delay [ns]

0 50 100
3943.15

3943.2

3943.25

3943.3

3943.35

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)
 / ndf 2χ  35.62 / 25

p0        0.0±  3943 

p1        0.0001821± -0.0005382 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)

TP delay [ns]

0 50 100

3935.9

3936

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8) / ndf 
2χ  43.66 / 25

p0        0.0±  3936 

p1        0.000198± -0.000998 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)

TP delay [ns]

0 50 100

3931

3931.2

3931.4

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)
 / ndf 2χ  51.76 / 25

p0        0.0±  3931 

p1        0.0001889± -0.0007078 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)

TP delay [ns]

0 50 100

3927.1

3927.2

3927.3

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)
 / ndf 2χ  39.76 / 25

p0        0.0±  3927 

p1        0.0001737± -0.0009633 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)

TP delay [ns]

0 50 100

3926.8

3926.85

3926.9

3926.95

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)
 / ndf 2χ  54.45 / 25

p0        0.0±  3927 

p1        0.0001755± -0.0009385 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)

TP delay [ns]

0 50 100

3952.9

3953

3953.1

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)
 / ndf 2χ  25.86 / 25

p0        0.0±  3953 

p1        0.0001975± -0.0004649 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)

TP delay [ns]

0 50 100

3955.5

3955.6

3955.7

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)
 / ndf 2χ  41.26 / 25

p0        0.0±  3956 

p1        0.0001955± -0.0006902 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)

TP delay [ns]

0 50 100
3953.2

3953.25

3953.3

3953.35

3953.4

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)
 / ndf 2χ  32.69 / 25

p0        0.0±  3953 

p1        0.0001852± -0.0007126 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)

TP delay [ns]

0 50 100

3958.8

3958.85

3958.9

3958.95

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)
 / ndf 2χ  22.68 / 25

p0        0.0±  3959 

p1        0.0001721± -0.0008085 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)



TP delay [ns]
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3912

3913

3914

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)
 / ndf 2χ  23.49 / 25

p0        0.0±  3915 

p1        0.0002069± -0.0002165 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)

TP delay [ns]
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3910

3911

3912

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)
 / ndf 2χ  39.64 / 25

p0        0.0±  3913 

p1        0.0001872± -0.0002164 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)

TP delay [ns]

0 50 100

3923.9

3924

3924.1

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)
 / ndf 2χ  27.91 / 25

p0        0.0±  3924 

p1        0.0001819± -0.0004341 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)

TP delay [ns]

0 50 100

3917.9

3917.95

3918

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)
 / ndf 2χ  39.54 / 25

p0        0.0±  3918 

p1        0.0001750± -0.0005331 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)

TP delay [ns]

0 50 100

3917.05

3917.1

3917.15

3917.2

3917.25

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)
 / ndf 2χ  32.83 / 25

p0        0.0±  3917 

p1        0.0001990± -0.0008535 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)

TP delay [ns]

0 50 100

3906

3908

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)
 / ndf 2χ     31 / 25

p0        0.0±  3910 

p1        0.0001813± -0.0009309 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)

TP delay [ns]

0 50 100
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3906

3908

3910

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)
 / ndf 2χ  37.38 / 25

p0        0.0±  3912 

p1        0.0001905± -0.0006643 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)

TP delay [ns]
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3912.25

3912.3

3912.35

3912.4

3912.45

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)
 / ndf 2χ  33.98 / 25

p0        0.0±  3912 

p1        0.0001781± -0.0004078 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)

TP delay [ns]

0 50 100
3911.8

3911.85

3911.9

3911.95

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)
 / ndf 2χ  31.27 / 25

p0        0.0±  3912 

p1        0.0001991± -0.0006707 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)

TP delay [ns]

0 50 100

3904

3906

3908

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)
 / ndf 2χ  19.54 / 25

p0        0.0±  3910 

p1        0.0001927± -0.0004462 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)

TP delay [ns]
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3912.35

3912.4

3912.45

3912.5

3912.55

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)
 / ndf 2χ  23.63 / 25

p0        0.0±  3912 

p1        0.0001841± -0.0006719 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

TP delay [ns]

0 50 100

3916.1

3916.15

3916.2

3916.25

3916.3

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11) / ndf 
2χ  32.46 / 25

p0        0.0±  3916 

p1        0.000181± -0.001136 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)

TP delay [ns]
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3898.5

3898.55

3898.6

3898.65

3898.7

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)
 / ndf 2χ  27.69 / 25

p0        0.0±  3899 

p1        0.0001876± -0.0008496 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)

TP delay [ns]

0 50 100

3898

3900

3902

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)
 / ndf 2χ  51.32 / 25

p0        0.0±  3902 

p1        0.0001799± -0.0001955 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)

TP delay [ns]

0 50 100

3904.35

3904.4

3904.45

3904.5

3904.55

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)
 / ndf 2χ   39.3 / 25

p0        0.0±  3904 

p1        0.0001943± -0.0008078 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

TP delay [ns]

0 50 100

3909

3909.5

3910

3910.5

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)
 / ndf 2χ  28.18 / 25

p0        0.0±  3911 

p1        0.0001870± -0.0002457 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)



TP delay [ns]
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3955.3

3955.4

3955.5

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)
 / ndf 2χ  39.74 / 25

p0        0.0±  3955 

p1        1.974e-04± -3.835e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)

TP delay [ns]

0 50 100

3947.45

3947.5

3947.55

3947.6

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1) / ndf 
2χ  14.89 / 25

p0        0.0±  3948 

p1        1.91e-04± -4.37e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)

TP delay [ns]
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3950.2

3950.25

3950.3

3950.35

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)
 / ndf 2χ  43.32 / 25

p0        0.0±  3950 

p1        0.0001755± -0.0003211 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)

TP delay [ns]

0 50 100

3956.45

3956.5

3956.55

3956.6

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)
 / ndf 2χ  47.83 / 25

p0        0.0±  3957 

p1        0.0001901± -0.0002377 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)

TP delay [ns]

0 50 100

3928.5

3929

3929.5

3930
TVC (Mean) vs TP delay (c,b,ch)=(4,9,4) / ndf 

2χ  27.64 / 25

p0        0.0±  3930 

p1        0.000210± -0.001248 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)

TP delay [ns]

0 50 100

3934

3936

3938

3940

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)
 / ndf 2χ  19.41 / 25

p0        0.0±  3941 

p1        0.0002105± -0.0008582 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)

TP delay [ns]

0 50 100

3943.8

3943.85

3943.9

3943.95

3944
TVC (Mean) vs TP delay (c,b,ch)=(4,9,6) / ndf 

2χ  24.68 / 25

p0        0.0±  3944 

p1        0.000188± -0.001122 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)

TP delay [ns]

0 50 100

3941.9

3942

3942.1

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7) / ndf 
2χ  52.57 / 25

p0        0.0±  3942 

p1        0.000182± -0.001486 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)

TP delay [ns]

0 50 100

3928

3930

3932

3934

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)
 / ndf 2χ  25.24 / 25

p0        0.0±  3934 

p1        0.0001941± -0.0007086 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)

TP delay [ns]
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3936.75

3936.8

3936.85

3936.9
TVC (Mean) vs TP delay (c,b,ch)=(4,9,9) / ndf 

2χ  31.64 / 25

p0        0.0±  3937 

p1        0.000177± -0.000572 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)

TP delay [ns]

0 50 100
3937.6

3937.7

3937.8

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)
 / ndf 2χ   41.6 / 25

p0        0.0±  3938 

p1        0.0001794± -0.0004075 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)

TP delay [ns]
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3935.25

3935.3

3935.35

3935.4

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)
 / ndf 2χ  39.79 / 25

p0        0.0±  3935 

p1        0.0001863± -0.0007393 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)

TP delay [ns]
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3934.5

3935

3935.5

3936

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)
 / ndf 2χ  31.15 / 25

p0        0.0±  3936 

p1        0.000183± -0.001395 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)

TP delay [ns]
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3934.25

3934.3

3934.35

3934.4

3934.45

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13) / ndf 
2χ  31.11 / 25

p0        0.0±  3934 

p1        0.00019± -0.00132 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)

TP delay [ns]

0 50 100

3930.1

3930.2

3930.3

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14) / ndf 
2χ  29.77 / 25

p0        0.0±  3930 

p1        0.000195± -0.001486 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)

TP delay [ns]

0 50 100
3938.3

3938.35

3938.4

3938.45

3938.5

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15) / ndf 
2χ  60.47 / 25

p0        0.0±  3938 

p1        0.000172± -0.001134 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)



TP delay [ns]
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3902.25

3902.3

3902.35

3902.4

3902.45

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)
 / ndf 2χ  46.03 / 25

p0        0.0±  3902 

p1        0.0001744± -0.0002656 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)

TP delay [ns]
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3917.9

3917.95

3918

3918.05

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)
 / ndf 2χ  32.54 / 25

p0        0.0±  3918 

p1        0.0001764± -0.0005974 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)

TP delay [ns]
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3907.45

3907.5

3907.55

3907.6

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)
 / ndf 2χ  16.69 / 25

p0        0.0±  3908 

p1        0.0001860± -0.0007982 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)

TP delay [ns]

0 50 100

3913

3913.1

3913.2

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)
 / ndf 2χ  29.43 / 25

p0        0.0±  3913 

p1        0.0001932± -0.0003695 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)

TP delay [ns]
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3929.3

3929.35

3929.4

3929.45

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)
 / ndf 2χ   36.2 / 25

p0        0.0±  3929 

p1        0.0001850± -0.0009174 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)

TP delay [ns]

0 50 100

3924

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5) / ndf 
2χ  26.76 / 25

p0        0.0±  3928 

p1        0.000179± -0.000922 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)

TP delay [ns]

0 50 100

3928

3930

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)
 / ndf 2χ  32.42 / 25

p0        0.0±  3933 

p1        0.0001807± -0.0009706 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)

TP delay [ns]

0 50 100

3934.35

3934.4

3934.45

3934.5

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)
 / ndf 2χ  31.32 / 25

p0        0.0±  3934 

p1        0.0001840± -0.0007705 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)

TP delay [ns]

0 50 100

3917.7

3917.8

3917.9

3918

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8) / ndf 
2χ  22.52 / 25

p0        0.0±  3918 

p1        0.000178± -0.001208 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)

TP delay [ns]

0 50 100

3919.2

3919.3

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9) / ndf 
2χ  18.85 / 25

p0        0.0±  3919 

p1        0.000197± -0.001266 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)

TP delay [ns]

0 50 100
3917.9

3918

3918.1

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10) / ndf 
2χ  51.49 / 25

p0        0.0±  3918 

p1        0.000181± -0.001163 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)

TP delay [ns]

0 50 100

3922.5

3922.6

3922.7

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11) / ndf 
2χ  42.49 / 25

p0        0.0±  3923 

p1        0.000184± -0.001088 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)

TP delay [ns]

0 50 100
3925.9

3926

3926.1

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12) / ndf 
2χ  28.37 / 25

p0        0.0±  3926 

p1        0.000179± -0.001623 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)

TP delay [ns]

0 50 100
3939.2

3939.3

3939.4

3939.5

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13) / ndf 
2χ  40.79 / 25

p0        0.0±  3939 

p1        0.000178± -0.001071 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)

TP delay [ns]

0 50 100

3938.9

3939

3939.1

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14) / ndf 
2χ  32.79 / 25

p0        0.0±  3939 

p1        0.00018± -0.00143 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)

TP delay [ns]

0 50 100

3927.7

3927.8

3927.9

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15) / ndf 
2χ  35.64 / 25

p0        0.0±  3928 

p1        0.000177± -0.001682 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)



TP delay [ns]
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3925.5

3925.55

3925.6

3925.65

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)
 / ndf 2χ  41.47 / 25

p0        0.0±  3926 

p1        0.0001885± -0.0004832 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)

TP delay [ns]

0 50 100

3933.7

3933.8

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)
 / ndf 2χ   43.4 / 25

p0        0.0±  3934 

p1        0.0001796± -0.0008486 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)

TP delay [ns]

0 50 100

3931.5

3931.6

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2) / ndf 
2χ  27.47 / 25

p0        0.0±  3932 

p1        0.000186± -0.001185 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)

TP delay [ns]

0 50 100

3927.8

3927.85

3927.9

3927.95

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)
 / ndf 2χ  33.56 / 25

p0        0.0±  3928 

p1        0.000184± -0.001024 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)

TP delay [ns]

0 50 100

3954.5

3954.6

3954.7
TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

 / ndf 2χ  32.48 / 25

p0        0.0±  3955 

p1        0.0001906± -0.0008044 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

TP delay [ns]

0 50 100

3946.55

3946.6

3946.65

3946.7

3946.75
TVC (Mean) vs TP delay (c,b,ch)=(4,11,5) / ndf 

2χ   31.7 / 25

p0        0.0±  3947 

p1        0.000181± -0.001027 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)

TP delay [ns]

0 50 100

3953.6

3953.7

3953.8

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6) / ndf 
2χ  36.76 / 25

p0        0.0±  3954 

p1        0.000184± -0.001018 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)

TP delay [ns]

0 50 100

3952.3

3952.4

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7) / ndf 
2χ  39.84 / 25

p0        0.0±  3952 

p1        0.000194± -0.001139 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)

TP delay [ns]

0 50 100

3926.5

3927

3927.5

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)
 / ndf 2χ  47.16 / 25

p0        0.0±  3928 

p1        0.0001922± -0.0003817 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)

TP delay [ns]

0 50 100
3933.75

3933.8

3933.85

3933.9

3933.95
TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

 / ndf 2χ  35.88 / 25

p0        0.0±  3934 

p1        0.0001816± -0.0004515 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

TP delay [ns]
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3934.4

3934.45

3934.5

3934.55

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)
 / ndf 2χ  56.45 / 25

p0        0.0±  3934 

p1        0.0001727± -0.0003939 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)

TP delay [ns]

0 50 100

3929

3929.1

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)
 / ndf 2χ  32.55 / 25

p0        0.0±  3929 

p1        0.0001995± -0.0005622 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)

TP delay [ns]

0 50 100
3934.85

3934.9

3934.95

3935

3935.05

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)
 / ndf 2χ  37.53 / 25

p0        0.0±  3935 

p1        0.000160± -0.001005 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)

TP delay [ns]

0 50 100

3927.9

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)
 / ndf 2χ  43.77 / 25

p0        0.0±  3928 

p1        0.0002183± -0.0009989 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)

TP delay [ns]

0 50 100

3930.55

3930.6

3930.65

3930.7

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)
 / ndf 2χ  33.99 / 25

p0        0.0±  3931 

p1        0.0001616± -0.0007654 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)

TP delay [ns]

0 50 100

3932.85

3932.9

3932.95

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15) / ndf 
2χ  28.82 / 25

p0        0.0±  3933 

p1        0.000193± -0.001216 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15)



TP delay [ns]
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3931.55

3931.6

3931.65

3931.7

TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)
 / ndf 2χ  20.35 / 25

p0        0.0±  3932 

p1        0.0001997± -0.0008673 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)

TP delay [ns]

0 50 100
3944.9

3945

3945.1

TVC (Mean) vs TP delay (c,b,ch)=(4,12,1) / ndf 
2χ  27.66 / 25

p0        0.0±  3945 

p1        0.000195± -0.001086 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,1)

TP delay [ns]

0 50 100

3939.3

3939.4

3939.5

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2)
 / ndf 2χ  31.85 / 25

p0        0.0±  3939 

p1        0.0002026± -0.0009745 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2)

TP delay [ns]

0 50 100

3932

3933

3934

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3) / ndf 
2χ  35.46 / 25

p0        0.0±  3935 

p1        0.000177± -0.001105 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)

TP delay [ns]
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3918

3919

3920

3921

3922

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4) / ndf 
2χ  24.88 / 25

p0        0.0±  3922 

p1        0.000184± -0.001412 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)

TP delay [ns]

0 50 100

3922.4

3922.5

3922.6

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5) / ndf 
2χ  32.09 / 25

p0        0.0±  3923 

p1        0.00019± -0.00167 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5)

TP delay [ns]
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3916

3917

3918

3919

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6) / ndf 
2χ  40.57 / 25

p0        0.0±  3919 

p1        0.000176± -0.001421 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6)

TP delay [ns]

0 50 100

3918

3920

3922

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)
 / ndf 2χ  31.37 / 25

p0        0.0±  3924 

p1        0.000188± -0.002204 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)

TP delay [ns]
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3912.4

3912.5

3912.6

3912.7

TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)
 / ndf 2χ  17.24 / 25

p0        0.0±  3913 

p1        0.000212± -0.001545 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)

TP delay [ns]

0 50 100

3911.2

3911.3

3911.4

TVC (Mean) vs TP delay (c,b,ch)=(4,12,9)
 / ndf 2χ  40.34 / 25

p0        0.0±  3911 

p1        0.000188± -0.001624 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,9)

TP delay [ns]

0 50 100

3914.1

3914.2

3914.3

TVC (Mean) vs TP delay (c,b,ch)=(4,12,10) / ndf 
2χ  52.74 / 25

p0        0.0±  3914 

p1        0.000179± -0.001497 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)

TP delay [ns]

0 50 100

3912.3

3912.4

3912.5

TVC (Mean) vs TP delay (c,b,ch)=(4,12,11) / ndf 
2χ  34.22 / 25

p0        0.0±  3912 

p1        0.000195± -0.001446 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,11)

TP delay [ns]

0 50 100

3902

3904

3906

TVC (Mean) vs TP delay (c,b,ch)=(4,12,12)
 / ndf 2χ  32.39 / 25

p0        0.0±  3906 

p1        0.0001914± -0.0009468 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,12)

TP delay [ns]
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3897.75

3897.8

3897.85

3897.9

3897.95

TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)
 / ndf 2χ   54.1 / 25

p0        0.0±  3898 

p1        0.0001864± -0.0009798 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)

TP delay [ns]
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3898.85

3898.9

3898.95

3899

3899.05

TVC (Mean) vs TP delay (c,b,ch)=(4,12,14) / ndf 
2χ  21.58 / 25

p0        0.0±  3899 

p1        0.000176± -0.001332 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,14)

TP delay [ns]

0 50 100

3898.25

3898.3

3898.35

3898.4

TVC (Mean) vs TP delay (c,b,ch)=(4,12,15) / ndf 
2χ  27.88 / 25

p0        0.0±  3898 

p1        0.000179± -0.001513 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,15)



TP delay [ns]
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4030.4

4030.5

4030.6

TVC (Mean) vs TP delay (c,b,ch)=(4,13,0) / ndf 
2χ  36.76 / 25

p0        0.0±  4030 

p1        0.000186± -0.001142 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,0)

TP delay [ns]

0 50 100
4020.3

4020.4

4020.5

TVC (Mean) vs TP delay (c,b,ch)=(4,13,1) / ndf 
2χ  31.79 / 25

p0        0.0±  4020 

p1        0.000186± -0.001252 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,1)

TP delay [ns]
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4024.75

4024.8

4024.85

4024.9

4024.95

TVC (Mean) vs TP delay (c,b,ch)=(4,13,2) / ndf 
2χ  32.24 / 25

p0        0.0±  4025 

p1        0.000183± -0.001548 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,2)

TP delay [ns]

0 50 100
4031.9

4032

4032.1

4032.2

TVC (Mean) vs TP delay (c,b,ch)=(4,13,3)
 / ndf 2χ  42.26 / 25

p0        0.0±  4032 

p1        0.000188± -0.001555 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,3)

TP delay [ns]

0 50 100
3961.2

3961.3

3961.4

3961.5

TVC (Mean) vs TP delay (c,b,ch)=(4,13,4) / ndf 
2χ   52.8 / 25

p0        0.0±  3961 

p1        0.000175± -0.001175 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,4)

TP delay [ns]

0 50 100

3955

3955.1

3955.2

TVC (Mean) vs TP delay (c,b,ch)=(4,13,5) / ndf 
2χ  38.21 / 25

p0        0.0±  3955 

p1        0.000170± -0.001468 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,5)

TP delay [ns]
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3963

3963.2

3963.4

3963.6

3963.8

TVC (Mean) vs TP delay (c,b,ch)=(4,13,6) / ndf 
2χ  29.45 / 25

p0        0.0±  3964 

p1        0.000185± -0.001727 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,6)

TP delay [ns]

0 50 100

3958

3960

3962

TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)
 / ndf 2χ  29.45 / 25

p0        0.0±  3963 

p1        0.000177± -0.001825 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)

TP delay [ns]
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4008

4010

4012

4014

TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)
 / ndf 2χ  33.23 / 25

p0        0.0±  4014 

p1        0.0001910± -0.0008607 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)

TP delay [ns]
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4019.7

4019.8

4019.9

TVC (Mean) vs TP delay (c,b,ch)=(4,13,9) / ndf 
2χ  38.21 / 25

p0        0.0±  4020 

p1        0.000179± -0.001218 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,9)

TP delay [ns]

0 50 100

4020.4

4020.5

4020.6

TVC (Mean) vs TP delay (c,b,ch)=(4,13,10) / ndf 
2χ  30.16 / 25

p0        0.0±  4021 

p1        0.000184± -0.001232 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,10)

TP delay [ns]

0 50 100

4008

4010

4012

TVC (Mean) vs TP delay (c,b,ch)=(4,13,11) / ndf 
2χ  20.87 / 25

p0        0.0±  4013 

p1        0.000198± -0.001009 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)

TP delay [ns]

0 50 100

3958.9

3959

TVC (Mean) vs TP delay (c,b,ch)=(4,13,12)
 / ndf 2χ  50.66 / 25

p0        0.0±  3959 

p1        0.0001704± -0.0008002 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,12)

TP delay [ns]
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3950

3952

3954

3956

TVC (Mean) vs TP delay (c,b,ch)=(4,13,13)
 / ndf 2χ  42.18 / 25

p0        0.0±  3956 

p1        0.000189± -0.001564 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,13)

TP delay [ns]

0 50 100

3958

3960

TVC (Mean) vs TP delay (c,b,ch)=(4,13,14) / ndf 
2χ  51.88 / 25

p0        0.0±  3961 

p1        0.000181± -0.001383 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,14)

TP delay [ns]
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3960.5

3960.6

3960.7
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0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,6,12)TVC sigma (RMS) (c,b,ch)=(0,6,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,6,13)TVC sigma (RMS) (c,b,ch)=(0,6,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,6,14)TVC sigma (RMS) (c,b,ch)=(0,6,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,6,15)TVC sigma (RMS) (c,b,ch)=(0,6,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,0)TVC sigma (RMS) (c,b,ch)=(0,7,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,1)TVC sigma (RMS) (c,b,ch)=(0,7,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,2)TVC sigma (RMS) (c,b,ch)=(0,7,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,3)TVC sigma (RMS) (c,b,ch)=(0,7,3)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,4)TVC sigma (RMS) (c,b,ch)=(0,7,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,5)TVC sigma (RMS) (c,b,ch)=(0,7,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,6)TVC sigma (RMS) (c,b,ch)=(0,7,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,7)TVC sigma (RMS) (c,b,ch)=(0,7,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,8)TVC sigma (RMS) (c,b,ch)=(0,7,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,9)TVC sigma (RMS) (c,b,ch)=(0,7,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,10)TVC sigma (RMS) (c,b,ch)=(0,7,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,11)TVC sigma (RMS) (c,b,ch)=(0,7,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,12)TVC sigma (RMS) (c,b,ch)=(0,7,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,13)TVC sigma (RMS) (c,b,ch)=(0,7,13)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,14)TVC sigma (RMS) (c,b,ch)=(0,7,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,7,15)TVC sigma (RMS) (c,b,ch)=(0,7,15)



0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,0)TVC sigma (RMS) (c,b,ch)=(0,8,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,1)TVC sigma (RMS) (c,b,ch)=(0,8,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,2)TVC sigma (RMS) (c,b,ch)=(0,8,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,3)TVC sigma (RMS) (c,b,ch)=(0,8,3)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,4)TVC sigma (RMS) (c,b,ch)=(0,8,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,5)TVC sigma (RMS) (c,b,ch)=(0,8,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,6)TVC sigma (RMS) (c,b,ch)=(0,8,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,7)TVC sigma (RMS) (c,b,ch)=(0,8,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,8)TVC sigma (RMS) (c,b,ch)=(0,8,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,9)TVC sigma (RMS) (c,b,ch)=(0,8,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,10)TVC sigma (RMS) (c,b,ch)=(0,8,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,11)TVC sigma (RMS) (c,b,ch)=(0,8,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,12)TVC sigma (RMS) (c,b,ch)=(0,8,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,13)TVC sigma (RMS) (c,b,ch)=(0,8,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,14)TVC sigma (RMS) (c,b,ch)=(0,8,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,15)TVC sigma (RMS) (c,b,ch)=(0,8,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,0)TVC sigma (RMS) (c,b,ch)=(0,9,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,1)TVC sigma (RMS) (c,b,ch)=(0,9,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,2)TVC sigma (RMS) (c,b,ch)=(0,9,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,3)TVC sigma (RMS) (c,b,ch)=(0,9,3)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,4)TVC sigma (RMS) (c,b,ch)=(0,9,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,5)TVC sigma (RMS) (c,b,ch)=(0,9,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,6)TVC sigma (RMS) (c,b,ch)=(0,9,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,7)TVC sigma (RMS) (c,b,ch)=(0,9,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,8)TVC sigma (RMS) (c,b,ch)=(0,9,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,9)TVC sigma (RMS) (c,b,ch)=(0,9,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,10)TVC sigma (RMS) (c,b,ch)=(0,9,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,11)TVC sigma (RMS) (c,b,ch)=(0,9,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,12)TVC sigma (RMS) (c,b,ch)=(0,9,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,13)TVC sigma (RMS) (c,b,ch)=(0,9,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,14)TVC sigma (RMS) (c,b,ch)=(0,9,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,15)TVC sigma (RMS) (c,b,ch)=(0,9,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,0)TVC sigma (RMS) (c,b,ch)=(0,10,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,1)TVC sigma (RMS) (c,b,ch)=(0,10,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,2)TVC sigma (RMS) (c,b,ch)=(0,10,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,3)TVC sigma (RMS) (c,b,ch)=(0,10,3)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,4)TVC sigma (RMS) (c,b,ch)=(0,10,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,5)TVC sigma (RMS) (c,b,ch)=(0,10,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,6)TVC sigma (RMS) (c,b,ch)=(0,10,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,7)TVC sigma (RMS) (c,b,ch)=(0,10,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,8)TVC sigma (RMS) (c,b,ch)=(0,10,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,9)TVC sigma (RMS) (c,b,ch)=(0,10,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,10)TVC sigma (RMS) (c,b,ch)=(0,10,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,11)TVC sigma (RMS) (c,b,ch)=(0,10,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,12)TVC sigma (RMS) (c,b,ch)=(0,10,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,13)TVC sigma (RMS) (c,b,ch)=(0,10,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,14)TVC sigma (RMS) (c,b,ch)=(0,10,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,15)TVC sigma (RMS) (c,b,ch)=(0,10,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,0)TVC sigma (RMS) (c,b,ch)=(0,11,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,1)TVC sigma (RMS) (c,b,ch)=(0,11,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,2)TVC sigma (RMS) (c,b,ch)=(0,11,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,3)TVC sigma (RMS) (c,b,ch)=(0,11,3)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,4)TVC sigma (RMS) (c,b,ch)=(0,11,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,5)TVC sigma (RMS) (c,b,ch)=(0,11,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,6)TVC sigma (RMS) (c,b,ch)=(0,11,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,7)TVC sigma (RMS) (c,b,ch)=(0,11,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,8)TVC sigma (RMS) (c,b,ch)=(0,11,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,9)TVC sigma (RMS) (c,b,ch)=(0,11,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,10)TVC sigma (RMS) (c,b,ch)=(0,11,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,11)TVC sigma (RMS) (c,b,ch)=(0,11,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,12)TVC sigma (RMS) (c,b,ch)=(0,11,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,13)TVC sigma (RMS) (c,b,ch)=(0,11,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,14)TVC sigma (RMS) (c,b,ch)=(0,11,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,11,15)TVC sigma (RMS) (c,b,ch)=(0,11,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,0)TVC sigma (RMS) (c,b,ch)=(0,12,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,1)TVC sigma (RMS) (c,b,ch)=(0,12,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,2)TVC sigma (RMS) (c,b,ch)=(0,12,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,3)TVC sigma (RMS) (c,b,ch)=(0,12,3)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,4)TVC sigma (RMS) (c,b,ch)=(0,12,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,5)TVC sigma (RMS) (c,b,ch)=(0,12,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,6)TVC sigma (RMS) (c,b,ch)=(0,12,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,7)TVC sigma (RMS) (c,b,ch)=(0,12,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,8)TVC sigma (RMS) (c,b,ch)=(0,12,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,9)TVC sigma (RMS) (c,b,ch)=(0,12,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,10)TVC sigma (RMS) (c,b,ch)=(0,12,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,11)TVC sigma (RMS) (c,b,ch)=(0,12,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,12)TVC sigma (RMS) (c,b,ch)=(0,12,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,13)TVC sigma (RMS) (c,b,ch)=(0,12,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,14)TVC sigma (RMS) (c,b,ch)=(0,12,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,12,15)TVC sigma (RMS) (c,b,ch)=(0,12,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,0)TVC sigma (RMS) (c,b,ch)=(0,13,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,1)TVC sigma (RMS) (c,b,ch)=(0,13,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,2)TVC sigma (RMS) (c,b,ch)=(0,13,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,3)TVC sigma (RMS) (c,b,ch)=(0,13,3)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,4)TVC sigma (RMS) (c,b,ch)=(0,13,4)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,5)TVC sigma (RMS) (c,b,ch)=(0,13,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,6)TVC sigma (RMS) (c,b,ch)=(0,13,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,7)TVC sigma (RMS) (c,b,ch)=(0,13,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,8)TVC sigma (RMS) (c,b,ch)=(0,13,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,9)TVC sigma (RMS) (c,b,ch)=(0,13,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,10)TVC sigma (RMS) (c,b,ch)=(0,13,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,11)TVC sigma (RMS) (c,b,ch)=(0,13,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,12)TVC sigma (RMS) (c,b,ch)=(0,13,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,13)TVC sigma (RMS) (c,b,ch)=(0,13,13)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,14)TVC sigma (RMS) (c,b,ch)=(0,13,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,15)TVC sigma (RMS) (c,b,ch)=(0,13,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,0)TVC sigma (RMS) (c,b,ch)=(0,14,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,1)TVC sigma (RMS) (c,b,ch)=(0,14,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,2)TVC sigma (RMS) (c,b,ch)=(0,14,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,3)TVC sigma (RMS) (c,b,ch)=(0,14,3)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,4)TVC sigma (RMS) (c,b,ch)=(0,14,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,5)TVC sigma (RMS) (c,b,ch)=(0,14,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,6)TVC sigma (RMS) (c,b,ch)=(0,14,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,7)TVC sigma (RMS) (c,b,ch)=(0,14,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,8)TVC sigma (RMS) (c,b,ch)=(0,14,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,9)TVC sigma (RMS) (c,b,ch)=(0,14,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,10)TVC sigma (RMS) (c,b,ch)=(0,14,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,11)TVC sigma (RMS) (c,b,ch)=(0,14,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,12)TVC sigma (RMS) (c,b,ch)=(0,14,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,13)TVC sigma (RMS) (c,b,ch)=(0,14,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,14)TVC sigma (RMS) (c,b,ch)=(0,14,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,14,15)TVC sigma (RMS) (c,b,ch)=(0,14,15)
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2

TVC sigma (RMS) (c,b,ch)=(0,15,0)TVC sigma (RMS) (c,b,ch)=(0,15,0)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(0,15,1)TVC sigma (RMS) (c,b,ch)=(0,15,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,15,2)TVC sigma (RMS) (c,b,ch)=(0,15,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,15,3)TVC sigma (RMS) (c,b,ch)=(0,15,3)

0 50 100
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2

TVC sigma (RMS) (c,b,ch)=(0,15,4)TVC sigma (RMS) (c,b,ch)=(0,15,4)
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TVC sigma (RMS) (c,b,ch)=(3,9,13)TVC sigma (RMS) (c,b,ch)=(3,9,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,14)TVC sigma (RMS) (c,b,ch)=(3,9,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,15)TVC sigma (RMS) (c,b,ch)=(3,9,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,0)TVC sigma (RMS) (c,b,ch)=(3,10,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,1)TVC sigma (RMS) (c,b,ch)=(3,10,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,2)TVC sigma (RMS) (c,b,ch)=(3,10,2)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,3)TVC sigma (RMS) (c,b,ch)=(3,10,3)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,4)TVC sigma (RMS) (c,b,ch)=(3,10,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,5)TVC sigma (RMS) (c,b,ch)=(3,10,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,6)TVC sigma (RMS) (c,b,ch)=(3,10,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,7)TVC sigma (RMS) (c,b,ch)=(3,10,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,8)TVC sigma (RMS) (c,b,ch)=(3,10,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,9)TVC sigma (RMS) (c,b,ch)=(3,10,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,10)TVC sigma (RMS) (c,b,ch)=(3,10,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,11)TVC sigma (RMS) (c,b,ch)=(3,10,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,12)TVC sigma (RMS) (c,b,ch)=(3,10,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,13)TVC sigma (RMS) (c,b,ch)=(3,10,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,14)TVC sigma (RMS) (c,b,ch)=(3,10,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,15)TVC sigma (RMS) (c,b,ch)=(3,10,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,0)TVC sigma (RMS) (c,b,ch)=(3,11,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,1)TVC sigma (RMS) (c,b,ch)=(3,11,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,2)TVC sigma (RMS) (c,b,ch)=(3,11,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,3)TVC sigma (RMS) (c,b,ch)=(3,11,3)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,4)TVC sigma (RMS) (c,b,ch)=(3,11,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,5)TVC sigma (RMS) (c,b,ch)=(3,11,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,6)TVC sigma (RMS) (c,b,ch)=(3,11,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,7)TVC sigma (RMS) (c,b,ch)=(3,11,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,8)TVC sigma (RMS) (c,b,ch)=(3,11,8)

0 50 100

1

1.5

2

2.5

TVC sigma (RMS) (c,b,ch)=(3,11,9)TVC sigma (RMS) (c,b,ch)=(3,11,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,10)TVC sigma (RMS) (c,b,ch)=(3,11,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,11)TVC sigma (RMS) (c,b,ch)=(3,11,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,12)TVC sigma (RMS) (c,b,ch)=(3,11,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,13)TVC sigma (RMS) (c,b,ch)=(3,11,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,14)TVC sigma (RMS) (c,b,ch)=(3,11,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,15)TVC sigma (RMS) (c,b,ch)=(3,11,15)



0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,0,0)TVC sigma (RMS) (c,b,ch)=(4,0,0)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,0,1)TVC sigma (RMS) (c,b,ch)=(4,0,1)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,0,2)TVC sigma (RMS) (c,b,ch)=(4,0,2)

0 50 100

0.85

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,0,3)TVC sigma (RMS) (c,b,ch)=(4,0,3)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,0,4)TVC sigma (RMS) (c,b,ch)=(4,0,4)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,0,5)TVC sigma (RMS) (c,b,ch)=(4,0,5)

0 50 100

1.02

1.04

1.06
TVC sigma (RMS) (c,b,ch)=(4,0,6)TVC sigma (RMS) (c,b,ch)=(4,0,6)

0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,0,7)TVC sigma (RMS) (c,b,ch)=(4,0,7)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,0,8)TVC sigma (RMS) (c,b,ch)=(4,0,8)

0 50 100
0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,0,9)TVC sigma (RMS) (c,b,ch)=(4,0,9)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,0,10)TVC sigma (RMS) (c,b,ch)=(4,0,10)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,0,11)TVC sigma (RMS) (c,b,ch)=(4,0,11)

0 50 100

1

1.02

1.04

1.06

1.08

TVC sigma (RMS) (c,b,ch)=(4,0,12)TVC sigma (RMS) (c,b,ch)=(4,0,12)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,0,13)TVC sigma (RMS) (c,b,ch)=(4,0,13)

0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,0,14)TVC sigma (RMS) (c,b,ch)=(4,0,14)

0 50 100
0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,0,15)TVC sigma (RMS) (c,b,ch)=(4,0,15)



0 50 100

0.85

0.9

0.95
TVC sigma (RMS) (c,b,ch)=(4,1,0)TVC sigma (RMS) (c,b,ch)=(4,1,0)

0 50 100

0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,1,1)TVC sigma (RMS) (c,b,ch)=(4,1,1)

0 50 100

0.7

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,1,2)TVC sigma (RMS) (c,b,ch)=(4,1,2)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,1,3)TVC sigma (RMS) (c,b,ch)=(4,1,3)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,1,4)TVC sigma (RMS) (c,b,ch)=(4,1,4)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,1,5)TVC sigma (RMS) (c,b,ch)=(4,1,5)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,1,6)TVC sigma (RMS) (c,b,ch)=(4,1,6)

0 50 100
0.7

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,1,7)TVC sigma (RMS) (c,b,ch)=(4,1,7)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,1,8)TVC sigma (RMS) (c,b,ch)=(4,1,8)

0 50 100

0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,1,9)TVC sigma (RMS) (c,b,ch)=(4,1,9)

0 50 100

0.98

1

1.02

1.04
TVC sigma (RMS) (c,b,ch)=(4,1,10)TVC sigma (RMS) (c,b,ch)=(4,1,10)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,1,11)TVC sigma (RMS) (c,b,ch)=(4,1,11)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,1,12)TVC sigma (RMS) (c,b,ch)=(4,1,12)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,1,13)TVC sigma (RMS) (c,b,ch)=(4,1,13)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,1,14)TVC sigma (RMS) (c,b,ch)=(4,1,14)

0 50 100

1.02

1.04

1.06
TVC sigma (RMS) (c,b,ch)=(4,1,15)TVC sigma (RMS) (c,b,ch)=(4,1,15)



0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,2,0)TVC sigma (RMS) (c,b,ch)=(4,2,0)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,2,1)TVC sigma (RMS) (c,b,ch)=(4,2,1)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,2,2)TVC sigma (RMS) (c,b,ch)=(4,2,2)

0 50 100

0.98

0.99

1

1.01

TVC sigma (RMS) (c,b,ch)=(4,2,3)TVC sigma (RMS) (c,b,ch)=(4,2,3)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,2,4)TVC sigma (RMS) (c,b,ch)=(4,2,4)

0 50 100
0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,2,5)TVC sigma (RMS) (c,b,ch)=(4,2,5)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,2,6)TVC sigma (RMS) (c,b,ch)=(4,2,6)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,2,7)TVC sigma (RMS) (c,b,ch)=(4,2,7)

0 50 100

0.9

0.92

0.94

0.96

0.98
TVC sigma (RMS) (c,b,ch)=(4,2,8)TVC sigma (RMS) (c,b,ch)=(4,2,8)

0 50 100

0.86

0.88

0.9

0.92

0.94

TVC sigma (RMS) (c,b,ch)=(4,2,9)TVC sigma (RMS) (c,b,ch)=(4,2,9)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,2,10)TVC sigma (RMS) (c,b,ch)=(4,2,10)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,2,11)TVC sigma (RMS) (c,b,ch)=(4,2,11)

0 50 100
0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,2,12)TVC sigma (RMS) (c,b,ch)=(4,2,12)

0 50 100

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,2,13)TVC sigma (RMS) (c,b,ch)=(4,2,13)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,2,14)TVC sigma (RMS) (c,b,ch)=(4,2,14)

0 50 100

0.75

0.8

0.85
TVC sigma (RMS) (c,b,ch)=(4,2,15)TVC sigma (RMS) (c,b,ch)=(4,2,15)



0 50 100

0.94

0.96

0.98

1

1.02
TVC sigma (RMS) (c,b,ch)=(4,3,0)TVC sigma (RMS) (c,b,ch)=(4,3,0)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,3,1)TVC sigma (RMS) (c,b,ch)=(4,3,1)

0 50 100

0.92

0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,3,2)TVC sigma (RMS) (c,b,ch)=(4,3,2)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,3,3)TVC sigma (RMS) (c,b,ch)=(4,3,3)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,3,4)TVC sigma (RMS) (c,b,ch)=(4,3,4)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,3,5)TVC sigma (RMS) (c,b,ch)=(4,3,5)

0 50 100

1

1.02

1.04

1.06
TVC sigma (RMS) (c,b,ch)=(4,3,6)TVC sigma (RMS) (c,b,ch)=(4,3,6)

0 50 100

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,3,7)TVC sigma (RMS) (c,b,ch)=(4,3,7)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,3,8)TVC sigma (RMS) (c,b,ch)=(4,3,8)

0 50 100
0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,3,9)TVC sigma (RMS) (c,b,ch)=(4,3,9)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,3,10)TVC sigma (RMS) (c,b,ch)=(4,3,10)

0 50 100

0.9

0.92

0.94

0.96

TVC sigma (RMS) (c,b,ch)=(4,3,11)TVC sigma (RMS) (c,b,ch)=(4,3,11)

0 50 100

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,3,12)TVC sigma (RMS) (c,b,ch)=(4,3,12)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,3,13)TVC sigma (RMS) (c,b,ch)=(4,3,13)

0 50 100

1

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,3,14)TVC sigma (RMS) (c,b,ch)=(4,3,14)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,3,15)TVC sigma (RMS) (c,b,ch)=(4,3,15)



0 50 100
0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,4,0)TVC sigma (RMS) (c,b,ch)=(4,4,0)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,4,1)TVC sigma (RMS) (c,b,ch)=(4,4,1)

0 50 100
0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,4,2)TVC sigma (RMS) (c,b,ch)=(4,4,2)

0 50 100
1.03

1.04

1.05

1.06

1.07

TVC sigma (RMS) (c,b,ch)=(4,4,3)TVC sigma (RMS) (c,b,ch)=(4,4,3)

0 50 100

1.05

1.1

TVC sigma (RMS) (c,b,ch)=(4,4,4)TVC sigma (RMS) (c,b,ch)=(4,4,4)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,4,5)TVC sigma (RMS) (c,b,ch)=(4,4,5)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,4,6)TVC sigma (RMS) (c,b,ch)=(4,4,6)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,4,7)TVC sigma (RMS) (c,b,ch)=(4,4,7)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,4,8)TVC sigma (RMS) (c,b,ch)=(4,4,8)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,4,9)TVC sigma (RMS) (c,b,ch)=(4,4,9)

0 50 100
0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,4,10)TVC sigma (RMS) (c,b,ch)=(4,4,10)

0 50 100

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,4,11)TVC sigma (RMS) (c,b,ch)=(4,4,11)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,4,12)TVC sigma (RMS) (c,b,ch)=(4,4,12)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,4,13)TVC sigma (RMS) (c,b,ch)=(4,4,13)

0 50 100

0.95

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,4,14)TVC sigma (RMS) (c,b,ch)=(4,4,14)

0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,4,15)TVC sigma (RMS) (c,b,ch)=(4,4,15)



0 50 100
0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,5,0)TVC sigma (RMS) (c,b,ch)=(4,5,0)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,5,1)TVC sigma (RMS) (c,b,ch)=(4,5,1)

0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,5,2)TVC sigma (RMS) (c,b,ch)=(4,5,2)

0 50 100

0.86

0.88

0.9

TVC sigma (RMS) (c,b,ch)=(4,5,3)TVC sigma (RMS) (c,b,ch)=(4,5,3)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,5,4)TVC sigma (RMS) (c,b,ch)=(4,5,4)

0 50 100

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,5,5)TVC sigma (RMS) (c,b,ch)=(4,5,5)

0 50 100

0.84

0.86

0.88

0.9

TVC sigma (RMS) (c,b,ch)=(4,5,6)TVC sigma (RMS) (c,b,ch)=(4,5,6)

0 50 100

0.9

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,5,7)TVC sigma (RMS) (c,b,ch)=(4,5,7)

0 50 100
0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,5,8)TVC sigma (RMS) (c,b,ch)=(4,5,8)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,5,9)TVC sigma (RMS) (c,b,ch)=(4,5,9)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,5,10)TVC sigma (RMS) (c,b,ch)=(4,5,10)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,5,11)TVC sigma (RMS) (c,b,ch)=(4,5,11)

0 50 100

1

1.05

1.1
TVC sigma (RMS) (c,b,ch)=(4,5,12)TVC sigma (RMS) (c,b,ch)=(4,5,12)

0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,5,13)TVC sigma (RMS) (c,b,ch)=(4,5,13)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,5,14)TVC sigma (RMS) (c,b,ch)=(4,5,14)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,5,15)TVC sigma (RMS) (c,b,ch)=(4,5,15)



0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,6,0)TVC sigma (RMS) (c,b,ch)=(4,6,0)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,6,1)TVC sigma (RMS) (c,b,ch)=(4,6,1)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,6,2)TVC sigma (RMS) (c,b,ch)=(4,6,2)

0 50 100

0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,6,3)TVC sigma (RMS) (c,b,ch)=(4,6,3)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,6,4)TVC sigma (RMS) (c,b,ch)=(4,6,4)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,6,5)TVC sigma (RMS) (c,b,ch)=(4,6,5)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,6,6)TVC sigma (RMS) (c,b,ch)=(4,6,6)

0 50 100
1

1.01

1.02

1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,6,7)TVC sigma (RMS) (c,b,ch)=(4,6,7)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,6,8)TVC sigma (RMS) (c,b,ch)=(4,6,8)

0 50 100
0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,6,9)TVC sigma (RMS) (c,b,ch)=(4,6,9)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,6,10)TVC sigma (RMS) (c,b,ch)=(4,6,10)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,6,11)TVC sigma (RMS) (c,b,ch)=(4,6,11)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,6,12)TVC sigma (RMS) (c,b,ch)=(4,6,12)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,6,13)TVC sigma (RMS) (c,b,ch)=(4,6,13)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,6,14)TVC sigma (RMS) (c,b,ch)=(4,6,14)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,6,15)TVC sigma (RMS) (c,b,ch)=(4,6,15)



0 50 100

1.02

1.04

1.06

1.08

TVC sigma (RMS) (c,b,ch)=(4,7,0)TVC sigma (RMS) (c,b,ch)=(4,7,0)

0 50 100

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,7,1)TVC sigma (RMS) (c,b,ch)=(4,7,1)

0 50 100
0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,7,2)TVC sigma (RMS) (c,b,ch)=(4,7,2)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,7,3)TVC sigma (RMS) (c,b,ch)=(4,7,3)

0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,7,4)TVC sigma (RMS) (c,b,ch)=(4,7,4)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,7,5)TVC sigma (RMS) (c,b,ch)=(4,7,5)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,7,6)TVC sigma (RMS) (c,b,ch)=(4,7,6)

0 50 100

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,7,7)TVC sigma (RMS) (c,b,ch)=(4,7,7)

0 50 100

0.95

1

1.05
TVC sigma (RMS) (c,b,ch)=(4,7,8)TVC sigma (RMS) (c,b,ch)=(4,7,8)

0 50 100

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,7,9)TVC sigma (RMS) (c,b,ch)=(4,7,9)

0 50 100
0.9

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,7,10)TVC sigma (RMS) (c,b,ch)=(4,7,10)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,7,11)TVC sigma (RMS) (c,b,ch)=(4,7,11)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,7,12)TVC sigma (RMS) (c,b,ch)=(4,7,12)

0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,7,13)TVC sigma (RMS) (c,b,ch)=(4,7,13)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,7,14)TVC sigma (RMS) (c,b,ch)=(4,7,14)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,7,15)TVC sigma (RMS) (c,b,ch)=(4,7,15)



0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,8,0)TVC sigma (RMS) (c,b,ch)=(4,8,0)

0 50 100

1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,8,1)TVC sigma (RMS) (c,b,ch)=(4,8,1)

0 50 100

0.88

0.9

0.92

0.94

0.96

TVC sigma (RMS) (c,b,ch)=(4,8,2)TVC sigma (RMS) (c,b,ch)=(4,8,2)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,8,3)TVC sigma (RMS) (c,b,ch)=(4,8,3)

0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,8,4)TVC sigma (RMS) (c,b,ch)=(4,8,4)

0 50 100

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,8,5)TVC sigma (RMS) (c,b,ch)=(4,8,5)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,8,6)TVC sigma (RMS) (c,b,ch)=(4,8,6)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,8,7)TVC sigma (RMS) (c,b,ch)=(4,8,7)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,8,8)TVC sigma (RMS) (c,b,ch)=(4,8,8)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,8,9)TVC sigma (RMS) (c,b,ch)=(4,8,9)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,8,10)TVC sigma (RMS) (c,b,ch)=(4,8,10)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,8,11)TVC sigma (RMS) (c,b,ch)=(4,8,11)

0 50 100
0.75

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,8,12)TVC sigma (RMS) (c,b,ch)=(4,8,12)

0 50 100

0.72

0.74

0.76

0.78

0.8

TVC sigma (RMS) (c,b,ch)=(4,8,13)TVC sigma (RMS) (c,b,ch)=(4,8,13)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,8,14)TVC sigma (RMS) (c,b,ch)=(4,8,14)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,8,15)TVC sigma (RMS) (c,b,ch)=(4,8,15)



0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,9,0)TVC sigma (RMS) (c,b,ch)=(4,9,0)

0 50 100

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,9,1)TVC sigma (RMS) (c,b,ch)=(4,9,1)

0 50 100

0.74

0.76

0.78

0.8

0.82

TVC sigma (RMS) (c,b,ch)=(4,9,2)TVC sigma (RMS) (c,b,ch)=(4,9,2)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,9,3)TVC sigma (RMS) (c,b,ch)=(4,9,3)

0 50 100
1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,9,4)TVC sigma (RMS) (c,b,ch)=(4,9,4)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,9,5)TVC sigma (RMS) (c,b,ch)=(4,9,5)

0 50 100

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,9,6)TVC sigma (RMS) (c,b,ch)=(4,9,6)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,9,7)TVC sigma (RMS) (c,b,ch)=(4,9,7)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,9,8)TVC sigma (RMS) (c,b,ch)=(4,9,8)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,9,9)TVC sigma (RMS) (c,b,ch)=(4,9,9)

0 50 100

0.98

1

1.02
TVC sigma (RMS) (c,b,ch)=(4,9,10)TVC sigma (RMS) (c,b,ch)=(4,9,10)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,9,11)TVC sigma (RMS) (c,b,ch)=(4,9,11)

0 50 100

0.96

0.98

1

1.02
TVC sigma (RMS) (c,b,ch)=(4,9,12)TVC sigma (RMS) (c,b,ch)=(4,9,12)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,9,13)TVC sigma (RMS) (c,b,ch)=(4,9,13)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,9,14)TVC sigma (RMS) (c,b,ch)=(4,9,14)

0 50 100

0.7

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,9,15)TVC sigma (RMS) (c,b,ch)=(4,9,15)



0 50 100

0.7

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,10,0)TVC sigma (RMS) (c,b,ch)=(4,10,0)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,10,1)TVC sigma (RMS) (c,b,ch)=(4,10,1)

0 50 100

1.01

1.02

1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,10,2)TVC sigma (RMS) (c,b,ch)=(4,10,2)

0 50 100
0.94

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,10,3)TVC sigma (RMS) (c,b,ch)=(4,10,3)

0 50 100

1.01

1.02

1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,10,4)TVC sigma (RMS) (c,b,ch)=(4,10,4)

0 50 100

1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,10,5)TVC sigma (RMS) (c,b,ch)=(4,10,5)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,10,6)TVC sigma (RMS) (c,b,ch)=(4,10,6)

0 50 100
0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,10,7)TVC sigma (RMS) (c,b,ch)=(4,10,7)

0 50 100

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,10,8)TVC sigma (RMS) (c,b,ch)=(4,10,8)

0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,10,9)TVC sigma (RMS) (c,b,ch)=(4,10,9)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,10,10)TVC sigma (RMS) (c,b,ch)=(4,10,10)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,10,11)TVC sigma (RMS) (c,b,ch)=(4,10,11)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,10,12)TVC sigma (RMS) (c,b,ch)=(4,10,12)

0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,10,13)TVC sigma (RMS) (c,b,ch)=(4,10,13)

0 50 100

0.86

0.88

0.9

0.92

TVC sigma (RMS) (c,b,ch)=(4,10,14)TVC sigma (RMS) (c,b,ch)=(4,10,14)

0 50 100

0.94

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,10,15)TVC sigma (RMS) (c,b,ch)=(4,10,15)



0 50 100
1.01

1.02

1.03

1.04

1.05

TVC sigma (RMS) (c,b,ch)=(4,11,0)TVC sigma (RMS) (c,b,ch)=(4,11,0)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,11,1)TVC sigma (RMS) (c,b,ch)=(4,11,1)

0 50 100

1.01

1.02

1.03

1.04

1.05

TVC sigma (RMS) (c,b,ch)=(4,11,2)TVC sigma (RMS) (c,b,ch)=(4,11,2)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,11,3)TVC sigma (RMS) (c,b,ch)=(4,11,3)

0 50 100
0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,11,4)TVC sigma (RMS) (c,b,ch)=(4,11,4)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,11,5)TVC sigma (RMS) (c,b,ch)=(4,11,5)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,11,6)TVC sigma (RMS) (c,b,ch)=(4,11,6)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,11,7)TVC sigma (RMS) (c,b,ch)=(4,11,7)

0 50 100

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,11,8)TVC sigma (RMS) (c,b,ch)=(4,11,8)

0 50 100

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,11,9)TVC sigma (RMS) (c,b,ch)=(4,11,9)

0 50 100

0.7

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,11,10)TVC sigma (RMS) (c,b,ch)=(4,11,10)

0 50 100
0.96

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,11,11)TVC sigma (RMS) (c,b,ch)=(4,11,11)

0 50 100
0.7

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,11,12)TVC sigma (RMS) (c,b,ch)=(4,11,12)

0 50 100

1.04

1.06

1.08

1.1

TVC sigma (RMS) (c,b,ch)=(4,11,13)TVC sigma (RMS) (c,b,ch)=(4,11,13)

0 50 100

0.65

0.7

TVC sigma (RMS) (c,b,ch)=(4,11,14)TVC sigma (RMS) (c,b,ch)=(4,11,14)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,11,15)TVC sigma (RMS) (c,b,ch)=(4,11,15)



0 50 100
1.02

1.03

1.04

1.05

TVC sigma (RMS) (c,b,ch)=(4,12,0)TVC sigma (RMS) (c,b,ch)=(4,12,0)

0 50 100

0.95

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,12,1)TVC sigma (RMS) (c,b,ch)=(4,12,1)

0 50 100
1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,12,2)TVC sigma (RMS) (c,b,ch)=(4,12,2)

0 50 100

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,12,3)TVC sigma (RMS) (c,b,ch)=(4,12,3)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,12,4)TVC sigma (RMS) (c,b,ch)=(4,12,4)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,12,5)TVC sigma (RMS) (c,b,ch)=(4,12,5)

0 50 100

0.92

0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,12,6)TVC sigma (RMS) (c,b,ch)=(4,12,6)

0 50 100
0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,12,7)TVC sigma (RMS) (c,b,ch)=(4,12,7)

0 50 100

0.95

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,12,8)TVC sigma (RMS) (c,b,ch)=(4,12,8)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,12,9)TVC sigma (RMS) (c,b,ch)=(4,12,9)

0 50 100
0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,12,10)TVC sigma (RMS) (c,b,ch)=(4,12,10)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,12,11)TVC sigma (RMS) (c,b,ch)=(4,12,11)

0 50 100

0.88

0.9

0.92

0.94

0.96

TVC sigma (RMS) (c,b,ch)=(4,12,12)TVC sigma (RMS) (c,b,ch)=(4,12,12)

0 50 100

0.94

0.96

0.98

1
TVC sigma (RMS) (c,b,ch)=(4,12,13)TVC sigma (RMS) (c,b,ch)=(4,12,13)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,12,14)TVC sigma (RMS) (c,b,ch)=(4,12,14)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,12,15)TVC sigma (RMS) (c,b,ch)=(4,12,15)



0 50 100
0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,13,0)TVC sigma (RMS) (c,b,ch)=(4,13,0)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,13,1)TVC sigma (RMS) (c,b,ch)=(4,13,1)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,13,2)TVC sigma (RMS) (c,b,ch)=(4,13,2)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,13,3)TVC sigma (RMS) (c,b,ch)=(4,13,3)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,13,4)TVC sigma (RMS) (c,b,ch)=(4,13,4)

0 50 100

0.88

0.9

0.92

0.94

0.96

TVC sigma (RMS) (c,b,ch)=(4,13,5)TVC sigma (RMS) (c,b,ch)=(4,13,5)

0 50 100
0.99

1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,13,6)TVC sigma (RMS) (c,b,ch)=(4,13,6)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,13,7)TVC sigma (RMS) (c,b,ch)=(4,13,7)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,13,8)TVC sigma (RMS) (c,b,ch)=(4,13,8)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,13,9)TVC sigma (RMS) (c,b,ch)=(4,13,9)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,13,10)TVC sigma (RMS) (c,b,ch)=(4,13,10)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,13,11)TVC sigma (RMS) (c,b,ch)=(4,13,11)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,13,12)TVC sigma (RMS) (c,b,ch)=(4,13,12)

0 50 100
0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,13,13)TVC sigma (RMS) (c,b,ch)=(4,13,13)

0 50 100

0.94

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,13,14)TVC sigma (RMS) (c,b,ch)=(4,13,14)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,13,15)TVC sigma (RMS) (c,b,ch)=(4,13,15)



0 50 100

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,14,0)TVC sigma (RMS) (c,b,ch)=(4,14,0)

0 50 100

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,14,1)TVC sigma (RMS) (c,b,ch)=(4,14,1)

0 50 100
0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,14,2)TVC sigma (RMS) (c,b,ch)=(4,14,2)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,14,3)TVC sigma (RMS) (c,b,ch)=(4,14,3)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,14,4)TVC sigma (RMS) (c,b,ch)=(4,14,4)

0 50 100

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,14,5)TVC sigma (RMS) (c,b,ch)=(4,14,5)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,14,6)TVC sigma (RMS) (c,b,ch)=(4,14,6)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,14,7)TVC sigma (RMS) (c,b,ch)=(4,14,7)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,14,8)TVC sigma (RMS) (c,b,ch)=(4,14,8)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,14,9)TVC sigma (RMS) (c,b,ch)=(4,14,9)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,14,10)TVC sigma (RMS) (c,b,ch)=(4,14,10)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,14,11)TVC sigma (RMS) (c,b,ch)=(4,14,11)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,14,12)TVC sigma (RMS) (c,b,ch)=(4,14,12)

0 50 100

0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,14,13)TVC sigma (RMS) (c,b,ch)=(4,14,13)

0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,14,14)TVC sigma (RMS) (c,b,ch)=(4,14,14)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,14,15)TVC sigma (RMS) (c,b,ch)=(4,14,15)



0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,15,0)TVC sigma (RMS) (c,b,ch)=(4,15,0)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,15,1)TVC sigma (RMS) (c,b,ch)=(4,15,1)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,15,2)TVC sigma (RMS) (c,b,ch)=(4,15,2)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,15,3)TVC sigma (RMS) (c,b,ch)=(4,15,3)

0 50 100

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,15,4)TVC sigma (RMS) (c,b,ch)=(4,15,4)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,15,5)TVC sigma (RMS) (c,b,ch)=(4,15,5)

0 50 100

0.9

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,15,6)TVC sigma (RMS) (c,b,ch)=(4,15,6)

0 50 100

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,15,7)TVC sigma (RMS) (c,b,ch)=(4,15,7)

0 50 100

1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,15,8)TVC sigma (RMS) (c,b,ch)=(4,15,8)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,15,9)TVC sigma (RMS) (c,b,ch)=(4,15,9)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,15,10)TVC sigma (RMS) (c,b,ch)=(4,15,10)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,15,11)TVC sigma (RMS) (c,b,ch)=(4,15,11)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,15,12)TVC sigma (RMS) (c,b,ch)=(4,15,12)

0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,15,13)TVC sigma (RMS) (c,b,ch)=(4,15,13)

0 50 100

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,15,14)TVC sigma (RMS) (c,b,ch)=(4,15,14)

0 50 100

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,15,15)TVC sigma (RMS) (c,b,ch)=(4,15,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,0)TVC sigma (RMS) (c,b,ch)=(5,0,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,1)TVC sigma (RMS) (c,b,ch)=(5,0,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,2)TVC sigma (RMS) (c,b,ch)=(5,0,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,3)TVC sigma (RMS) (c,b,ch)=(5,0,3)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,4)TVC sigma (RMS) (c,b,ch)=(5,0,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,5)TVC sigma (RMS) (c,b,ch)=(5,0,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,6)TVC sigma (RMS) (c,b,ch)=(5,0,6)
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1

1.5

2

2.5
TVC sigma (RMS) (c,b,ch)=(5,0,7)TVC sigma (RMS) (c,b,ch)=(5,0,7)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,8)TVC sigma (RMS) (c,b,ch)=(5,0,8)

0 50 100

1

1.5

2

2.5

TVC sigma (RMS) (c,b,ch)=(5,0,9)TVC sigma (RMS) (c,b,ch)=(5,0,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,10)TVC sigma (RMS) (c,b,ch)=(5,0,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,11)TVC sigma (RMS) (c,b,ch)=(5,0,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,12)TVC sigma (RMS) (c,b,ch)=(5,0,12)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,13)TVC sigma (RMS) (c,b,ch)=(5,0,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,14)TVC sigma (RMS) (c,b,ch)=(5,0,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,0,15)TVC sigma (RMS) (c,b,ch)=(5,0,15)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,0)TVC sigma (RMS) (c,b,ch)=(5,1,0)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,1)TVC sigma (RMS) (c,b,ch)=(5,1,1)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,2)TVC sigma (RMS) (c,b,ch)=(5,1,2)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,3)TVC sigma (RMS) (c,b,ch)=(5,1,3)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,4)TVC sigma (RMS) (c,b,ch)=(5,1,4)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,5)TVC sigma (RMS) (c,b,ch)=(5,1,5)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,6)TVC sigma (RMS) (c,b,ch)=(5,1,6)
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1

1.5

2

2.5

TVC sigma (RMS) (c,b,ch)=(5,1,7)TVC sigma (RMS) (c,b,ch)=(5,1,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,8)TVC sigma (RMS) (c,b,ch)=(5,1,8)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,9)TVC sigma (RMS) (c,b,ch)=(5,1,9)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,10)TVC sigma (RMS) (c,b,ch)=(5,1,10)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,11)TVC sigma (RMS) (c,b,ch)=(5,1,11)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,12)TVC sigma (RMS) (c,b,ch)=(5,1,12)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,13)TVC sigma (RMS) (c,b,ch)=(5,1,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,14)TVC sigma (RMS) (c,b,ch)=(5,1,14)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,1,15)TVC sigma (RMS) (c,b,ch)=(5,1,15)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,0)TVC sigma (RMS) (c,b,ch)=(5,2,0)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,1)TVC sigma (RMS) (c,b,ch)=(5,2,1)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,2)TVC sigma (RMS) (c,b,ch)=(5,2,2)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,3)TVC sigma (RMS) (c,b,ch)=(5,2,3)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,4)TVC sigma (RMS) (c,b,ch)=(5,2,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,5)TVC sigma (RMS) (c,b,ch)=(5,2,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,6)TVC sigma (RMS) (c,b,ch)=(5,2,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,7)TVC sigma (RMS) (c,b,ch)=(5,2,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,8)TVC sigma (RMS) (c,b,ch)=(5,2,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,9)TVC sigma (RMS) (c,b,ch)=(5,2,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,10)TVC sigma (RMS) (c,b,ch)=(5,2,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,11)TVC sigma (RMS) (c,b,ch)=(5,2,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,12)TVC sigma (RMS) (c,b,ch)=(5,2,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,13)TVC sigma (RMS) (c,b,ch)=(5,2,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,14)TVC sigma (RMS) (c,b,ch)=(5,2,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,2,15)TVC sigma (RMS) (c,b,ch)=(5,2,15)



0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,0)TVC sigma (RMS) (c,b,ch)=(5,3,0)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,1)TVC sigma (RMS) (c,b,ch)=(5,3,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,2)TVC sigma (RMS) (c,b,ch)=(5,3,2)
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1

2

3

TVC sigma (RMS) (c,b,ch)=(5,3,3)TVC sigma (RMS) (c,b,ch)=(5,3,3)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,4)TVC sigma (RMS) (c,b,ch)=(5,3,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,5)TVC sigma (RMS) (c,b,ch)=(5,3,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,6)TVC sigma (RMS) (c,b,ch)=(5,3,6)

0 50 100

1

1.5

2

2.5

TVC sigma (RMS) (c,b,ch)=(5,3,7)TVC sigma (RMS) (c,b,ch)=(5,3,7)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,8)TVC sigma (RMS) (c,b,ch)=(5,3,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,9)TVC sigma (RMS) (c,b,ch)=(5,3,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,10)TVC sigma (RMS) (c,b,ch)=(5,3,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,11)TVC sigma (RMS) (c,b,ch)=(5,3,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,12)TVC sigma (RMS) (c,b,ch)=(5,3,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,13)TVC sigma (RMS) (c,b,ch)=(5,3,13)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,14)TVC sigma (RMS) (c,b,ch)=(5,3,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,3,15)TVC sigma (RMS) (c,b,ch)=(5,3,15)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,0)TVC sigma (RMS) (c,b,ch)=(5,4,0)
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1
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2

TVC sigma (RMS) (c,b,ch)=(5,4,1)TVC sigma (RMS) (c,b,ch)=(5,4,1)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,2)TVC sigma (RMS) (c,b,ch)=(5,4,2)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,3)TVC sigma (RMS) (c,b,ch)=(5,4,3)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,4)TVC sigma (RMS) (c,b,ch)=(5,4,4)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,5)TVC sigma (RMS) (c,b,ch)=(5,4,5)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,6)TVC sigma (RMS) (c,b,ch)=(5,4,6)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,7)TVC sigma (RMS) (c,b,ch)=(5,4,7)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,8)TVC sigma (RMS) (c,b,ch)=(5,4,8)
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1

1.5

2

2.5
TVC sigma (RMS) (c,b,ch)=(5,4,9)TVC sigma (RMS) (c,b,ch)=(5,4,9)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,10)TVC sigma (RMS) (c,b,ch)=(5,4,10)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,11)TVC sigma (RMS) (c,b,ch)=(5,4,11)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,12)TVC sigma (RMS) (c,b,ch)=(5,4,12)
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1
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2

TVC sigma (RMS) (c,b,ch)=(5,4,13)TVC sigma (RMS) (c,b,ch)=(5,4,13)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,14)TVC sigma (RMS) (c,b,ch)=(5,4,14)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(5,4,15)TVC sigma (RMS) (c,b,ch)=(5,4,15)
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2

TVC sigma (RMS) (c,b,ch)=(5,5,0)TVC sigma (RMS) (c,b,ch)=(5,5,0)
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TVC sigma (RMS) (c,b,ch)=(5,5,1)TVC sigma (RMS) (c,b,ch)=(5,5,1)
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TVC sigma (RMS) (c,b,ch)=(5,5,2)TVC sigma (RMS) (c,b,ch)=(5,5,2)
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TVC sigma (RMS) (c,b,ch)=(5,5,3)TVC sigma (RMS) (c,b,ch)=(5,5,3)
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TVC sigma (RMS) (c,b,ch)=(5,5,4)TVC sigma (RMS) (c,b,ch)=(5,5,4)
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TVC sigma (RMS) (c,b,ch)=(5,5,5)TVC sigma (RMS) (c,b,ch)=(5,5,5)
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TVC sigma (RMS) (c,b,ch)=(5,5,6)TVC sigma (RMS) (c,b,ch)=(5,5,6)
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TVC sigma (RMS) (c,b,ch)=(5,5,7)TVC sigma (RMS) (c,b,ch)=(5,5,7)
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TVC sigma (RMS) (c,b,ch)=(5,5,8)TVC sigma (RMS) (c,b,ch)=(5,5,8)
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TVC sigma (RMS) (c,b,ch)=(5,5,9)TVC sigma (RMS) (c,b,ch)=(5,5,9)
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TVC sigma (RMS) (c,b,ch)=(5,5,10)TVC sigma (RMS) (c,b,ch)=(5,5,10)
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TVC sigma (RMS) (c,b,ch)=(5,5,11)TVC sigma (RMS) (c,b,ch)=(5,5,11)
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TVC sigma (RMS) (c,b,ch)=(5,5,12)TVC sigma (RMS) (c,b,ch)=(5,5,12)
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TVC sigma (RMS) (c,b,ch)=(5,5,13)TVC sigma (RMS) (c,b,ch)=(5,5,13)
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TVC sigma (RMS) (c,b,ch)=(5,5,14)TVC sigma (RMS) (c,b,ch)=(5,5,14)
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TVC sigma (RMS) (c,b,ch)=(5,5,15)TVC sigma (RMS) (c,b,ch)=(5,5,15)
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TVC sigma (RMS) (c,b,ch)=(5,6,0)TVC sigma (RMS) (c,b,ch)=(5,6,0)
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TVC sigma (RMS) (c,b,ch)=(5,6,1)TVC sigma (RMS) (c,b,ch)=(5,6,1)
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TVC sigma (RMS) (c,b,ch)=(5,6,2)TVC sigma (RMS) (c,b,ch)=(5,6,2)
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TVC sigma (RMS) (c,b,ch)=(5,6,3)TVC sigma (RMS) (c,b,ch)=(5,6,3)
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TVC sigma (RMS) (c,b,ch)=(5,6,4)TVC sigma (RMS) (c,b,ch)=(5,6,4)
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TVC sigma (RMS) (c,b,ch)=(5,6,5)TVC sigma (RMS) (c,b,ch)=(5,6,5)
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TVC sigma (RMS) (c,b,ch)=(5,6,6)TVC sigma (RMS) (c,b,ch)=(5,6,6)
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